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SAMPLE QUESTION PAPER (2017-18)
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Class: X
U o
Roll No.

o  FHNISNE IS FF I IN-TH GEa g |
e FUNSAEFS R UN-THAH 20 UAE |
o FTAT I H ST [AEHI I[E FlA € TES U FT FHI® 1074 5 |

e  Please check that this question paper contains printed pages.
e  Please check that this question paper contains 14 questions.

e  Please write down the serial number of the question before attempting it.

15 minute time has been allotted to read this question paper. In this duration the
students will read the question paper only and will not write any answer on the answer

book during this period.



HAER-5A-951, (2017-18) / SAMPLE QUESTION PAPER (2017-18)
HEHaH, (FHISUTEIRGH) / COMMUNICATIVE SANSKRIT

Fe: 20 / Class : X

7T E\l'{ﬁm{ gﬂf@ - ¢o
feraiRa oo : 3 =0 AfeRaH 31 : ¢o
Time allowed : 3 Hours. Maximum Marks : 80
que: &t TSAR-SAFIAH, / TS d-STaara= : g0 3igm:

Section A Unseen Reading Comprehension : 10 Marks

oS @: THATHE-HEH /| TIATCHS-HE . 9w I

SectionB  Writing Skills : 15 Marks

que: I IIGR-ATHRUM_/ I hH TR D Y IFn:

SectionC  Applied Grammar : 25 Marks

HUe: ©: qied-TEaraay / Gied-rEard . 30 SET:

SectionD  Reading Comprehension : 30 Marks

fedam: / Instructions :-
(i) A I TAN: QULT: |ied |

T 9T § TR E |

The Question paper has four sections.
(i) T WUSH AT TN THRHA LT FHHUT SET |

el EUE % I T &l ST T FA § fored &

The answers to each section must be written at one place.
(i) TG YATATTENH SIS SET |

AT % SFEN UA-HET a7 @l &nt |

Write the question number according to the question paper.
(iv) G T2 ST Ehde SE-ans |

Y 9T % ST GEpd | fRaw |

Answer all the questions in Sanskrit.

@ue: & (Section A)
SIS, /- STFaH (2o AFT:)
Unseen Reading Comprehension (10 Marks)
L riosRae Srgesd e Saemei Eegan I :
FefcsRad ST=dg 1 TEHY fqU, 1T Sl % IO Hegpd H i ;




Read the following passage and answer the given question in Sanskrit :

. . < < [N N o o~ < hatiay < a0~ < .
SICER Wﬂ’q GH hdqH d 3= | qﬂWTUTT Sdd hdHAASAAT Hdql IATTHAT | hdHITAA
=~ - < . N < . o . o
SRS R | 69 U TEhdee =yt Fdfed | T9: Tad adid | arg: Tafal Jafd| a
o o . . ¢ =~ ~ o < A~ o S o [aN N N . .
T IR | Stia GEHd g AHaET Fid ST FAAT (ETRan= Gied | Ags: d9 qie-

HERTHE FaeH | faaraad, GRE-FEIUH, @i SRR |9 Odl, 9EEE dIeed,
URNIET: GEIT FHdeaTl Gied | : A FAAEU: Hald @ U GHIE E&h: AR

T | Td: Tz HSA: Tl Ehcied -IaH | Ehed A Haiey ara |
;-
I THYGH I 1x2=2
U Teg H I &I :
Answer in one word :
(i)  IUE: S 9REf?
(i) T Faiueiy @ T
I o 3O 2x2=4
quTaTER | IO ST ;
Answer in complete sentence :
() TGS Siad Fel SHid: Wald?
(i)  %: GHNE @&H: E0AH Harid?

M ved fashed: IFuaq I Far foea: Vox=4
faQ 7T kel | | I ST FAH [SRaT :

Choose and write the appropriate answer from the given options :

()  durr 3 PR w5 e e
() 5 @ T
@ A @
(i)  Sie gewd &g I ferRivoTae o el
@) Sl ) gEHH
@  FGH (3 @i
(i) /R o %: 99 TR S
(3)  \ddH @  gEHH
(@) & @
(iv) '3:EHIH I F: [ASH: TR T
(3) guEEE @) A
@) (@  EaaH

(IV) 3 SToaed Fid G 2 Gehae foed: |

T TS % (AT ITTH A9 Sl | foaiay)
Write the appropriate title for this passage in Sanskrit.




@ue: W: (Section B)

THICHH-HAH / THICHH-H1 (24 STgT:)
Writing Skills (15 Marks)
2.  w@-fraene aifiEcad auiaw: i ofd fefad o agem: Ifeaue: Rt g

JoH faaTed & AYHIcHd FT 0 FXd g0 o & ufd fosd a1e o1 & o @ S 98 g i

X

Complete the following letters and address it to your friend describing your

school's annual day with the world given in the box. 1x10=5

ETARREDICRE
(00 N
fere: (2)

o et (3)

(4)

Wad: O U o’ @Eaead (5) JUIEAT | THEEYEEE (6) ad
AT (7) = FHEY A A | JTTHHRIGT: HEFA (8) e | |
foRITSo STdia rRied | JaRaT: JERA: 1 (9) E=3d | Y™ ;|

H4qd: (10)
T |
A
[N, figia: , Fam: |, 3, Geg, @R, Jea: | 21.04.2018 , Rameae , aifvicaad |

3. oT9: UG (e TH1 Aealudl YETRIGH! Qe = AT« S [osed:
< fe T st 61 Juie A H fou T 2l i HeTHaT | Wi Hehd aTwi | it
Describe the following picture in five Sanskrit sentences with the help of the words

given in the box. 2x5=10

A

SF:, ST, G, TR, SIGH, Hehl:, Fdllel, TR, IeE=ihar:, e, femE|




A

3T (Or)

TSI V-2l ArerA fermfosiad s e 1= S TRy TH =l foad:
AT H U 710 1) it Wt | fFrfaRad e oX of areEl | U ST fhaw :

Write a paragraph in five Sanskrit sentences on the following topic with the help of

the words given the box. 2x5=10
- qglﬂ';

BT, ATATEROR, STUT-aH, (SIFAIH), My, i, @M, ®otie, F[EH, THel:, Tgeul: 39

QUe: : (Section C)

TR/ ST SHAH (R4 IgT:)
Applied Grammar (25 Marks)

NSRRI Ty TS et HieT=se a1 Fcll foaral:

fermrfosRaa il § Tatgd aai | @feq stean |fe-fa=sg w1t fofa,

Write the underlined words of the following sentences after joining of disjoining
sandhis: 1x4=4
() G Al+3Ed 98 9 ITF |

(i)  °TEH ITHE q=f ST |

(i) T TEESEEE 9T |

(iv) o o e Y AT

AMNSRAT-ATRIY TS AUGH THIE [0 a1 Te ke M foea: -
ferAfesRad aTeRll § TEIEd el 1 TH UaT fooe QU T fadedl | § T foRaa -

Choose and write the correct compounded or expounded form of the underlined

words in the following sentences :- 1x4=4
(1) Ais: Fs: T q: RS fEah|
@) ASHTEE: @) AASHTS @ Ao
(i) I O T=aq |
(3)  FArh-GRAH @) I AREH, (F) R ST
(iii) TH: 9 ZAM: I IqH T |
() TR @)  qETE: @ I
(iv) TEUEH g |
(3) U IENT EEHER: (§) 99-9e @) T

TS RE-TRIY T YT S-S Haied fonted a1 I ST fhedna: R fowa: -
A Raa arerll § @S d el & Tshid Tl i el 1 JoE Flh Srad ST fahedl § § TAwT

oo

[AEY ;-




Write the underlined words of the following sentences after joining or disjoining

suffixes to the roots words. Selecting the correct answer from the option given

below :- 1x4=4
(i) o T =T A4 FrdAd |

()  Fw: @ FE ® P
(i) ot ARl B+ TSH ATZIAH

()  FedH, @  wea @) wiedn

(iii)  Thd: THUNECT HARHT TR |
() TUE+EY  (F) UE+dg (F)  EOEser
(iv) Sifsheh! I T2 T |

A

@) SifFFE+Sd () SH+SM (F) SRS

FeNfSRad HaTe AFTREI g Ue: Ar=ARad Fedl WA | 9 A: foswa: - 1x3=3
TefesRad daTe 1 Hegge § foe 10 Fed] il Geddl | ar=4-9Rad= Hld g E dare g faRaa)
Fill in the following dialogue by choosing the right words as per rules of voice.
Rvw: - % od ol wefe

o - ! T4 (4) q&ad |
e - & Tar: o fosafa?

JE: - ! (i) o6 fEd |
Re: - I 6 (iid)

o - ATg: 930 |

FeRdd, TEum, e

el Radie=aTal REE i Hibaraehare: Jhwd ;-

rifosRa femarat # Rereatreil 1 g Fldaras-areg) § FT -

Rewrite the time table using Sanskrit work in place of figures :- 1x2=2
() 2% 5:00 SfaeiH |

()  7:15 T =31 |

HEfSRETATRIY, R TSt Sed: Sd: eade: QU foed -

frrfosRara ATl H ek €Tl it gl wege H S 9T, 3t o7 wgf g1 AifT -

Fill in the blanks in the following sentences with appropriate indeclinable words
given in the box :- 1x4=4
(i) e ferteafar

(i) T ATSE THSART?




(iii) =™ Jad|
(iv) AN A 9 .

qq, I, dE:, FQ

10.

11.

ITARAAY ATRIY TESATGH ST2TEH TR | 3T[E-T¢ T2 foed :- 1x4=4
STNfsRad-aTl § TETrgd 98 3T & | 318, eq i g B I: fosed -

Correct the underlined incorrect words and rewrite the following sentences.

()  E ey T |

(i) & N HSHT AR |

(i)  *a: TA: oo TT=3id |

(iv) o (3Gl qEhTI TG 3TNTS3 |

@oe: 9: (Section D)
Qd-SEaewH / Qid-STa (30 3fg:)
Reading Comprehension (30 Marks)

N O K3 K3 0, qﬁ’ . a o -q o 03 haN o :-

femfosRad T, 9o TR ATeiRT &l Gy fu Ta 2l 3 IR Hehd | fofaa -

Read the following prose, poetry and drama passage and answer the given question

in Sanskrit :-
() I

SN ¢

Y TSl dl TG & AT Shied: i, TSHA 96T TaeaE, - Wl Wl SIS | FaHs
ded e AR Fied? Al Big T qad, dfe | fmemt M R R SgiEd)l aegeEn 9y
HfAq Igeve: TIoE: 3T - AR Wil T dE F WA Gaed IRA I FIAF I Tgr?
MY ITH FTHRC?

)  THYeA I - 1x2=2

T Teg H I Gl -
Answer in one word :-

() o e STagdm?

(i) SIS TR AW Hieled E?

) UkdEH SO - 2x1=2
Qe H ST ST -
Answer in complete sentence :-

()  IISUS: qTSH: fhH FEqA?




M) SedH®Redd: IradH ST Ml foEd - Vox4=2
feQ 79 kel | & I ST IAw [SRAT -

Choose and write the correct answer from the given option :-

F) A T BRATIEE FAE R -
G (i)  wWaE=t (iii) ao®:

W) U - O & S TRl S -

(i) R (i) g (i) &EE
M AT GEAH IS T TR -
() e (i) TR (i) AR

H) Igeue: dew: - o7 [ fRIvuTeH o -

i)  Sdue: (i)  SE: (i) fowreTg:
(3M) SR
FISH:? ASHFEA:, T IR ? T1 Ralel = s1oiifer =1 gef:2 A2 Fres i) axh = St
I) THYeH ST - 1x2=2
T Feg H ITR ST -

Answer in one word :-
(i) T STEEG: G E:?
(i)  9: fEar« A s1onfd 9: &:?

[[)  ThaTEe ST :- 2x1=2
T?El'lﬂil H I eﬂﬁ—iq -
Answer in complete sentence :-
(i) I FIS PEN o 9 SEIG |: F: 7ard?

M) Yeadhedd: Iad I Hal fowd - Vox4=2
for I Rl H § I ST TR 3R -
Choose and write the correct answer from the given option :-

ED) 'S’ - I & ﬁ@lﬂ:%fl%w:-
() o (i) HE: (iii) ~ @R:

W) ITREd: g aeeueed feeT-ue ford -

() FEGWRE (i) wFEOERTE (i) A wEE
) STUTITY STRHA 9 HI qrq: -

H % G) o (iii) =@
) "THH’ - T F: TAH: -

@  ggd (i) (i) 9



® AR

gf: - S TR A | A SITT: SRS | SR |
MFW: - AR A T T A g IUGRA S |: Thal g,
TS | eTel el §: GaRIaehH o |
g - (|ieEE) S S )
oSiFwn: - oI A FUGH| A T TR ST | At o TH TEH, AR, 9:
ek 91 o3, o qETH |
g - daed: |
NFO: - | THY G S | IR0 TR, 3 Sh: T UL QT Tk IEIdaT,
o |: T ek TR ESAGH, Y GHE: 7 3T |
)  OHYQH I - 1x2=2
T Feg H IR ST -
Answer in one word :-
() & TREEERT 9 ®RA?
(i) 1T, 2fh O ok IR A
[I)  ThaTEe ST :- 2x1=2
QUi B IR ST -
Answer in complete sentence :-
(i) G SE: W T T, TG FH A
M) YeAeHeRd: Iraa I Nl [&Ed - Vox4=2

faQ e kel | | I ST A [SRa -

Choose and write the correct answer from the given option :-
)OS T F: HSH: TR TR -

()  oTEE: () fa= (i)  TEwgE:
W) G QI - 31 S fReer-gen ot -

o

(i) G (i)  \UIE (iii) ~ EUIH-GTOTT

M A RA IS F: T TG -

0 T () &N (i) =G
B) w3t e w -
(@) e (i) T (iii) &

12. CEEduare mged u2-fm F6d - 1x4=4
T T o SR RS- e i -
Frame the questions on the basis of underlined words :-



(i) SIS FesEgeh I RA: TRES
(i) AN O STeaEd |
(i)  STEUTCHRI T SLFIRY R |

(iv) FHTRYHET: We: THEHd FEd |

13, e SRR P SRR e s g
A ﬁﬁe@%aqawﬁa%ﬁaaiﬁ%ﬁﬁmwﬁﬁﬁq-
Complete the prose order of the following two Shlokas by choosing the appropriate
words given in the box :-
(®)  o1qd: FSTU FRNST fd q@ Rk Vox4=2
Il FrEHTE & =
& VRl a4 (i) R (ii) fod | (3m)
&4d: (iii) G=991d 4 (iv) T I
@) A F=sid I el o Jed Vsx4=2
ST 6 qued Scgfhedchag |l
a1 g (i) Hed (ii) T=3d, ST T
& (iii) Y, 5gfh: (iv) |
W [y
IGH, d9:, IMYd:, [HUTIEH, dohdsidl, dcd, &9H, JheH.
14.  MTSRIARIA Tt Wd fshed: FHd foed :- 1x4=4

fTATRad Il I T WG [Thedl | & Frwt [GRaT -

Choose and write the correct gist of the following sentences from the given

options:-
(®) =S & T FO T TSTEEH -

() AR (i) SHIRNSH (i) JSUEdH
(@)  Hdd Fehad IRATHH: -

() R (i) ~ RHE (i) S-S
() eI EHA G = e -

(i) &I (i)  feEon (iii)  mame:
(})  3THei T S -

(i) (i) T (iii)  fer=3T

LR I i N




